Virginia High School League

Scholastic Bowl, 2002-03 season

District Competition, Match #13

These questions are for use in the Virginia High School League’s Scholastic Bowl competition at the District level. Shawn Pickrell, Adam Fine and Christopher Moretti are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a) Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District before all District champions have been announced is prohibited. This is meant to keep question security.

(b) Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined. This is also meant to keep question security.

(c) After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged.

(d) These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups
1.
For 10 points, what state is known as the Nutmeg State?

ANSWER: CONNECTICUT
2.
For 10 points, what Emperor’s 1868 “restoration” was a pivotal event in Japanese history?

ANSWER: MEIJI Restoration (accept Mutsuhito)

3.
It consists of a glass tube with a squeezable bulb at one end and a nozzle at the other end. It is operated by sticking the nozzle in a liquid and squeezing the bulb. For 10 points, what is this lab instrument that is used to measure and obtain very small amounts of liquid accurately?

ANSWER: PIPET (pie-PET)

4.
Ben Richards needs to buy medicine for his daughter who has pneumonia. He then enters in the Free-Vee games, which include Treadmill to Bucks, where heart-attack prone contestants run until they drop, and the title game, where the object is simply to survive for 30 days while the entire nation tries to hunt you down. For 10 points, this is a description of what Steven King book he wrote under the Richard Bachmann alias?

ANSWER: The RUNNING MAN
5.
Before his election, he was Mayor of Richmond. For 10 points, who is the current lieutenant governor of Virginia?

ANSWER: Timothy KAINE
6.
On Internet discussion boards, this five-letter word means to insult someone who disagrees with you. For 10 points, what is this word that refers to the zone of burning gasses and suspended matter that is associated with the combustion of a substance?

ANSWER: FLAME
7.
The pure form of this acid is called glacial. It has the chemical formula CH3COOH. For 10 points, what acid’s 3-5% aqueous formula is called vinegar?

ANSWER: ACETIC acid (accept ethanoic acid)

8.
For 10 points, what political party was formed primarily to oppose Andrew Jackson?

ANSWER: WHIGs

9.
Formed by the rising of sea levels associated with the end of the last Ice Age, like bays they are shaped by indentation into a coastline, but for classification purposes, they are larger than bays.  For ten points, what are these massive bodies of water, with Bothnia and Mexico as examples?

ANSWER:  GULFs

10.
For ten points, what god is the Roman equivalent of the Greek god of fire and blacksmiths, Hephaestus (heh-FEST-us), as well as the home planet of Mr. Spock?

ANSWER: VULCAN
11.
While he fought the battle of Saratoga, Horatio Gates got the credit. By 1779, he was several thousand pounds in debt and feeling very slighted. So he approached British Major John Andre and offered to defect and give the British the town of West Point in New York. Although the plot failed, he was able to escape to Canada. For 10 points, who was this man whose name is synonymous with “traitor”?

ANSWER: Benedict ARNOLD
12.
THIS IS A COMPUTATION QUESTION. A bucket contains golf and tennis balls.  The ratio of golf balls to tennis balls is 2:7. If the bucket contains 180 balls, for 10 points, how many golf balls are there?

ANSWER: 40
13.
In order to start the procedure, a person should place the heel of one hand on the lower third of the victim’s breastbone, and pump down a couple inches at the rate of fifteen times per 10 to 12 seconds.  For ten points, what life-saving technique often involves the rescuer to breathe into the victim’s mouth?

ANSWER:  CPR (or cardiopulmonary resuscitation)

14.
The adventures of John Bergson and his four children – Alexandra, Emil, Oscar and Lou – fuel the plot of, for 10 points, what novel by Willa Cather?

ANSWER: O! PIONEERS
15.
For 10 points, what group of bears includes Champ, Birthday, Cheer and Wish?

ANSWER: CARE BEARS
Second period: 10 directed questions for each team

Questions with an A after their number will be read to the team that selects set A of questions; questions with a B after their number will be read to the team that selects set B of questions.

1A.
What Frankish king was the winner of the battle of Tours in 732 AD?

ANSWER: CHARLES MARTEL (prompt on Charles)

1B.
Jesse Bradford and Erika Christensen are the stars of what teenage version of “Fatal Attraction”?

ANSWER: SWIMFAN
2A.
THIS IS A COMPUTATION QUESTION. A box contains old items. The ratio of valuable antiques to near-worthless junk is 1:45.  The antiques average $1,000 per item, while the junk averages $2 per item.  If there are 92 items in the box, how much is the box worth?

ANSWER: $2,180
2B.
Who was Vice-President during Lincoln’s first term?

ANSWER: Hannibal HAMLIN
3A.
Who wrote the novel Lolita?

ANSWER: Vladimir NABUKOV
3B.
What eight-letter word comes from the Latin word for praise and means praiseworthy or commendable?

ANSWER: LAUDABLE
4A.
Since 1812, the Massachusetts Medical Society has published what periodical devoted to presenting medical research and breakthroughs?

ANSWER:  The NEW ENGLAND JOURNAL OF MEDICINE
4B.
What is the term for a logical compound proposition that is always true, or always false, no matter what the truth values of the atomic propositions are?

ANSWER: TAUTOLOGY
5A.
John Howard is the Prime Minister of what country?

ANSWER: AUSTRALIA
5B.
The clostridium bacterium causes what disease that causes muscle rigidity, especially in the jaw, and for which children are vaccinated along with diphtheria?

ANSWER:  TETANUS (prompt on “lockjaw” after “jaw”; accept lockjaw before “jaw”)

6A.
What two word Latin phrase refers to an incident that is sufficient cause under international law for one country to attack another?

ANSWER: CASUS BELLI
6B.
What method of reasoning moves from general rules to specific instances, and reaches conclusions that must be true, as opposed to induction?

ANSWER:  DEDUCTION (or DEDUCTIVE reasoning)

7A.
Take a hypothesis. Assume the hypothesis is false. Then demonstrate how this assumption leads to a contradiction of the hypothesis or some previously known fact. Tis is an example of what sort of proof?

ANSWER: INDIRECT proof

7B.
What was the title of the two officials that headed the Roman Republic for a one-year term?

ANSWER: CONSULs

8A.
In Vergil’s Aeneid, what queen of Carthage kills herself after Aeneas breaks off their romance?

ANSWER:  DIDO (DIE-doh) 

8B.
What dialect of Chinese is the most widely spoken of all Chinese dialects?

ANSWER: MANDARIN
9A.
What word is used to describe any reaction where electrons are added, as opposed to oxidation, where electrons are removed? 

ANSWER: REDUCTION
9B.
THIS IS A COMPUTATION QUESTION. A brilliant mathematics student can do a homework set in one hour with no mistakes.  A normal student takes 4 hours to do it in order to ensure perfection.  Asuming they are not bound by an honor code, how many minutes will it take them to complete the assignment together in parts?

ANSWER: 48
10A.
Who directed the films Stagecoach and The Quiet Man?

ANSWER: John FORD

10B.
What preprocessor directive is used to allow outside functions and libraries to be called in a C or C++ program?

ANSWER: INCLUDE
Third period: 15 tossups
1.
THIS IS A COMPUTATION QUESTION. For 10 points, using the expressions r and pi, what is the length of the side of a square that has the same area as a circle with radius r?

ANSWER: R√π (r times the square root of pi)

2.
For ten points, comprised mostly of the oceans and seas, what name is given to the region of water at or near the Earth’s surface, distinguished from the lithosphere and atmosphere?

ANSWER:  HYDROSPHERE
3.
Originally a practical peasant, for ten points, what character becomes the squire of Don Quixote (kee-HO-tay) and by the end of Cervantes’s novel longs for the open road?

ANSWER:  SANCHO PANZA (accept either name)

4.
For 10 points, what 490 BC battle was fought 26 miles outside of Athens?

ANSWER: MARATHON
5.
The Book of Rites and the Analects are collected teachings of, for ten points, what early fifth century BCE sage, born Chung-Ni but given the name of Grand Master, Kung Fu-Tzu?

ANSWER:  CONFUCIUS
6.
It was ultimately signed by over 65 nations, but had no enforcement mechanism other than world opinion. It was named for the French and American diplomats who crafted it. For 10 points, what was this treaty that was to outlaw war as a method of statecraft?

ANSWER: KELLOGG-BRIAND Pact

7.
Likely derived from a medieval comic devil, he became a stock figure in commedia dell’arte (del-AR-tay), with a black mask and diamond-patterned tights.  For ten points, what part-time lover of Columbine shares his name with a collection of trashy romance novels?

ANSWER:  HARLEQUIN (or ARLECCHINO)

8.
Who is the woman that Frederic Henry loves in A Farewell To Arms?

ANSWER: CATHERINE Barkley

9.
If one object exerts force on another object, the second object exerts a force on the first object equal in magnitude and opposite in direction. This is a statement of, for 10 points, which of Law of Motion?

ANSWER: NETWON’S THIRD law of Motion

10.
Based on the tragedy by Oscar Wilde, what one-act Richard (REE-card) Strauss opera features the title character’s demanding of the head of Jochanaan on a platter after she finishes the Dance of the Seven Veils?

ANSWER:  SALOME (SAL-oh-may)

11.
For 10 points, what Georgetown graduate is returning to DC as an assistant coach of the Wizards?

ANSWER: Patrick EWING
12.
The Oath of Lasagna, Declaration of Geneva, and Prayer of Maimonides (my-MAHN-uh-deez) are alternatives to, for ten points, what traditional vow made by new physicians to adhere to medical ethics?

ANSWER:  HIPPOCRATIC OATH
13.
He was unable to enter the US in 2000, and so provided financial support to al-Qa’eda cells in the US. He claimed on al-Jazeera (al-JAH-zee-ruh) that he had helped organize the September 11 attacks. For 10 points, Pakistani forces arrested what man on September 13?

ANSWER: Ramzi BINALSHIBH (bih-NAL-shib)

14.
For 10 points, in what voice is the following sentence? “In the experiment, the samples were first tested by scientists for bacteria.” 

ANSWER: PASSIVE
15.
For 10 points, what economics “curve” states that as unemployment goes up, inflation goes down?

ANSWER: PHILLIPS curve

SPARE QUESTIONS (In the second period, try to replace the question discarded with the a spare question in that subject area – i.e. science for science, social studies for social studies, etc.) Be sure to cross out the questions if/as they are used.

1.
Officially, the table (or mensa) is its only necessary part, but often it is embellished with a platform, a canopy, and a tabernacle.  Usually located in the center of the sanctuary, for ten points, what sacred part of the church can contain wooden pieces of art such as Ghent by the Van Eycks?

ANSWER:  ALTAR (accept altarpiece at the end)

2.
For ten points, playwright Federico Garcia Lorca was shot by a firing squad in 1936 during what conflict, due to his supposed Republican sympathies?

ANSWER:  SPANISH CIVIL WAR



3.
For 10 points, what is the largest city in Wisconsin?

ANSWER: MILWAUKEE
4.
THIS IS A COMPUTATION QUESTION. A tennis racquet is selling for $100 after a 20% discount.  For 10 points, what was the original price of the racquet?

ANSWER: $125
5.
For ten points, what Unitarian theologian and scientist unknowingly discovered oxygen?

ANSWER:  Joseph PRIESTLEY
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